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magmErs— k| w=150 | m 103. 84
A F M 75 2 16 10 97.84 1 7.50




UERER

HIVP ¢ 20 ETRE= 400 m
= s s s s | o = o | PIER
Biga | N | 2O | Z2UE | ZUE | ZUE | ZUE | ZUE | & § Kk OB O
iz 1 3.00 0.50 0.50 4.00 0.00 2
2 1.00 0.50 0.50 1.00 0.50 3.50 0.50 5
H 4.00 1.00 1.00 1.00 0.50 7.50 0.50 7




UERER

HIVP ¢ 25 ERE 400 m
= s s s s | o = o | VIR
Biga | N | 2O | Z2UE | ZUE | ZUE | ZUE | ZUE | & § Kk OB O
iz 1 2.00 2.00 4.00 0.00 1
2 2.15 0.20 1.00 0. 40 3.75 0.25 4
3 3.00 0.50 3.50 0.50 2
4 3.45 0.40 3.85 0.15 2
5 3.49 3.49 0.51 1
6 2.01 1.30 3. 31 0.69 2
Ji 2.94 1.00 3.94 0.06 2
H 19. 04 5.40 1.00 0.40 25.84 2.16 14




LB & 3]

(ELZLFIET)EET TER: uEREt
i & I i =
% 7 BT ETA

2 £ & & & I b 40 m 2.30
T S i F I ¢ 40 H 12

" 650 H i
£ & 9 W I $ 40 H 8 |UBEBmRE 4+ 4 CEAOHEHOZFvo o)

" 650 H 1 |mmE  EAOIAE
T L A2 ) OF OE I ¢® 40 L=143.0m m3 0.2 T/4%0.0472%143.0




LE % 3

[ =R IR E [ ] AEHEEROHAET S, TE . 4#REt
ELALEET HIVP (TS) HIVP (TS) E £
¢ 40 ¢ 50 HIVP
% b1 e R~ & |sE|l B = [mmaE| TS | RO TS ¢ 40
HIVP 0.3x%x2+0.9+0.8
B $40x 4,00 m| 23| — 2.30
1SY7 v+ |¢40 7l 2 — 1 4
ISTILAR ¢ 40 " 2 — 4
TSEv v 7 | 440 n| 4 — 4
TS+ v 7 |50 n | 1 — 1
ELHL |1:3 m3| 02 | —

) F M 12 1 2.30




B .z =
RXKEBHBEGHR (1/2) TE; . L%)RE
T iE i 1% BT @ @ © @ 5t it 1B
SR RRYIMT T As  T=15cmET m 30. 54 5.50 11. 00 47.04 47
SR RRYIMT T Co T=15cmET m .00 4. 00 4
BH 0. 28m’
S IIENIFEAT | As T=10cmE T m’ 23.35 3.30 126. 43 .40 155. 48 160
BEMRYIELT | Co #H m° 12 0.12 0.12
BH 0.28m3
BAIEEI T L&t m’ 0.38 .08 0.46 0.5
Ast BH 0.28m° #&5A
BrmET DT 4t  L=14.5km m® 1.95 0.10 3.79 .04 5. 88 6
Cot® BH 0.28m° #&:A
" DT 4t  L=14.5km m® 12 0.12 0.12
+% BH 0.28m° A
" DT 4t L= 3.0km m® 0.38 .08 0.46 0.5
- Astii t 4.58 0.24 8.91 .09 13.82 14
" Cott t .28 0.28 0.3
" ) m® 0. 38 .08 0.46 0.5
WEMAL
FEEET b<1.8m m’ 23.35 3.30 126. 43 .40 155. 48 155
BEFHEAs (BEE)4y93-+
X B I t= 5em 1.4m=<b m? 23.35 23.35 23
BAZHEAs (EE) 7 7{h1-}+
" t= 5em 1. 4m=<b m’ 23.35 23.35 23
BAEZHEAs (538E) 7 71h1-}+
" t= 3cm 1.4m=<b m’ 3.30 126. 43 129. 73 130




] FEE . LyREt
ABEBEHEXR (2/2) TEE ¥ &
T & b % By @ @ it it i
Ay — hEE
®*= B T t= 10cm /B A HITER m’ 0.24 0. 24 0.2
X @i =4 B W=15cm m 10. 45 10. 45 10
" =4 & W=15cm m 1.24 1. 24 1




AEBEHERD B - HiE (As5-5-15-15)

@ @ ®=0Dx® @ ® ®=@xB|@D=Q—-0®] ®=@xn XE##EIR
TIHS Al =gy AEIPER| AEHE |AEEEE|REBER| REIEE |REIDEE | ZEMmE| HEDE M [EE (8) |ER (&)
(m) (m) (m2) (m) (m) (m2) (m2) T=15cmE T 15¢cm 15¢cm
SHEEERKLY
D1 FHKDE - - 2.82 0.84 5.18 1.66
SHEEERKLY 2.85
-2 FHIKQE - - 16. 60 3.45 15.52 2.79 1.24
SHEEERKLY
@-3 P 40FAET - - 2.01 0. 60 4. 24 1.55
1. 0+0. 3%2 1. 6%2+1. 242
-4 P L0FAET 1.60 1.20 1.92 0. 60 5.60 1.60
B 23.35 5.49 17. 86 30. 54 10. 45 1.24
1) SRR T T (t= 15 cmET)
L= = 30.54 m
A1EIHME 2) HERIEHITEIAT (t= 10 cmET)
LN kg 1818 FEIE A= = 23.35 m2
HERIEHIFEAT
V= 17. 86 X 0.10
0.03 | + 5.49 X 0.03 = 1.95 m3
- |
0.10 =T 0.10 RN
/ : e 3) Mt iEEIFEIAT
0.07 : V= 5.49 X 0.07 = 0.38 m3
HEHARAI T |
I 4) T MET
i AstiR (M) V= = 1.95 m3
| w= 1.95 x 2. 35t/m3 = 4.58 t
T (HH) v= = 0.38 m3
) REEIET
A= = 23.35 m2
6) RBL (BEZRIEAs) HEH (t= 5 cm)
A= = 23.35 m2
) REL (BAMEREAS) (t= 5 cm)
A= = 23.35 m2




FEBHAERD

TTES

BiE - 38 (As3-10)
@

B R E

AERER
(m)

@

A1EBME

(m)

@=0DOx®@
AEIHEE
(m2)

@
REBER
(m)

®
1€ 1813
(m)

®=@x®
i€ IHmTE
(m2)

EEMmIE
(m2)

®=@x n
SHELIBT (m)
T=15cmZE T

(2%)

-1

2.75

1.20

3. 30

2.75

0. 60

1. 65

5. 50

3.30

1. 65

1. 65

9. 90

SRR TRIA T

AEBHE

iA=L

0.03

0.03

IR T

g

0.03

1) SRR N B T
L=

2) SRR EHIFEAT
A=

V= 3.30

+

3) M HEHITEA T
V=

HFETNET
Ast (M) v=

W:
TR (W) v=

5) FREEET
A=

0.10 x 2.35t/m3

6) RB L (BETNEAs)

A=

) RET (BAEMAEAs) B

A=

cm)

cm)

0.10

5.50 m

3.30 m2

m3

m3

0.10 m3

0.24 t

m3

3.30 m2

3.30 m2

m2




AEBHERS =i - As (As3-10)

@ @ ® @ ® ®=@xB|D=0—6| ®=@x n
B4 Al =gy AEIPER| AEEE [AEEEE|REBER| REIEIE |REIBEE|ZENmiE| ST (M)
(m) (m) (m2) (m) (m) (m2) (m2) T=15cm=E T
@1 No. 0+5. 75~No. 1 19. 32 2.10 40. 57 19. 32 0. 60 11.59
No. 1~No. 2 25.07 2.37 56. 03 25.07 0. 60 15.04
No. 2~1P. 3 9.80 2.37 23.23 9. 80 0.60 5.88
(2%)
®-2 kO 3.50 1.20 4.20 3.50 0. 60 2.10 7.00
(2%)
®-3 k@ 2.00 1.20 2.40 2.00 0. 60 1.20 4.00
B 126. 43 35. 81 90. 62 11.00
1) SRR T T (t= 15 cmET)
L= = 11.00
A8 |B1E 2) HERIEHITEIAT (t= 10 cmET)
LN kg 1818 FEIE A= = 126. 43
HERIEHIFEAT
V= 126. 43 X 0.03
0.03 + X 0.03 = 3.79 m3
. =T . R
0.0 7 = 0.03 3) AR BIBSA T
V= X -
BRI T |
HFETNET
Ast (M) v= 3.79 m3
w= 3.79 x 2.35t/m3 8.91 t
i | "R
T (HH) v= m3
5) RREFEIET
A= 126.43 m2
6) RBL (BEZRIEAs) HEH (t=
A= 126. 43 m2
N REBIL (BEFAEAS) (t=
A= m2




FEBHAERD

Eih - Co (Co10-10)

@ @ ®=0Dx® @ ® ®=@xB|D=0—6| ®=@x n
B4 Al = (No.0+) AERER| AERE [AEDER|REBER| REIOE |REID@EE|SEH@mE| FHEDE )
(m) (m) (m2) (m) (m) (m2) (m2) T=15cmZE T
(2%)
@-1 kG 2.00 1.20 2.40 2.00 0.60 1.20 4.00
5 2. 40 1.20 1.20 4.00
1) S5 RV T (t= 15 cmET)
L= = 4.00 m
AEHIE 2-1) SHZERRIEHIFEA T (As) (t= 10 cmET)
SENE =& H1E FEIE A= = 2.40 m2
HERIEBITEAT 2-2) & & EE L (Co)
V= 1.20 X 0.10 = 0.12 m3
0.03 I
| V (As) = 1.20 x 0.03 0.04 m3
0.10 =T 0.10 .
7 : =R 3) MM IR A T
0.07 ! V= 1.20 X 0.07 = 0.08 m3
HEHARAI T |
I HFELTMIET
i Asti (HH) V= = 0.04 m3
- w= 0.04 x 2. 35t/m3 = 0.09 t
| Colt (H#H) V= = 0.12 m
##l I B2 R W= 0.12 x 2.35t/m3 = 0.28 t
TR (B V= = 0.08 m3
5) RREFEIET
A= = 2.40 m2
ORBIL(OVY)— MR (t= 10 cm)
A= 2. 40 x 0.10 = 0.24 m3
T REI (BEMALEAS) #H (t= cm)
A= = m2




